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Roger Kimball introduces the November issue
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Subscribe to The New Criterion’s podcast series via Apple or Google.

Roger Kimbeall, the Editor and Publisher of The New Criterion, discusses highlights of the November
2021 issue and reads from its opening pages.

Roger Kimball is Editor and Publisher of The New Criterion and President and Publisher of
Encounter Books. His latest books include The Critical Temper: Interventions from The New Criterion at
40 (Encounter Books) and Where Next? Western Civilization at the Crossroads (Encounter Books).
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